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QUIZ NO. 08 – Sections 02 & 03 
Static Dry Friction                                    Monday, May 20, ‘02


1. The man has a weight of 200 lbs, and is walking on an inclined plank that rests on two surfaces with static friction coefficients  =  = 0.3. Determine how far distance d the man can walk up the plank without causing the plank to slip neglecting the weight and thickness of plank.
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Determine how far d the man can walk up the
plank without causing the plank to slip. The coefficient of
static friction at A and B is g, = 0.3. The man has a weight
of 200 Ib and a center of gravity at G. Neglect the
thickness and weight of the plank.






















































Name:  

No.:

                                                                                                        Score: 

Note: there will be 10% for neatness of presentation.


